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Q Samarth is going to an orphanage to distribute fruits on his bi? —
If there are 36 children at the orphanage, how many dzze:: Zenx
bananas should he b buy so that each child gets 2 bananas?

Barona weeded - 26 x 20 42  uo
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EXERCISE 5.2

A. Find out how many children will get the bals. Do ¢n beo K

L EaCh chlld gets 6 balls

24 @ i in equal groups of 6 . groups
24+6=_4 ;& children will get 6 balls each,
2. Each child gets 4 balls.

o

O in o ~ When we
e en we
24 @ in equal groups of 4 = _6 groups /moke, sl groups,
24+4=4 € children W111 get 4 balls each. ? we know how many -
‘ h
3. Each child gets 3 balls. | e I each grouw.

24 @ in equal groups of 3 = 8 groups
24 +3 = 2 ; 3 children will get 3 balls each.

Terms in division
16 - 8

= 2
L | l
DIVIDEND DIVISOR QUOTIENT

(the number to be divided) (the number by which to divide) (the answer)

ENRICHMENT ACTIVITY G

There are 9 children and 18 _18 mangoes. Richard d1v1des the 18 mangoes among
them Each child gets 2 mangoes Fill in the ) \% ~Q & b}

DIVIDEND = 1%} DIVISOR = O\) QUOTIENT = 9,
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EXERCISE 5.3 e 1" ﬁ
A. Complete the table. Do (n c¢» PY
' QUESTION DIVIDEND DIVISOR QUOTIENT
L34+ 2 = 17 34 9 |
~ 4 ! < T
¥ ol & & | & 3
3% =9 =4 30 q 4
4. 84 =+ 12 =17 8-4_ N l
5072+ 6 =12 1o 0 L 11U

B. Write the division question using the given information.

N Do (n coPq.-
DIVIDEND DIVISOR QUOTIENT QUESTION
1 32 8 4 32-8=4
= " g 8 32 t4-%
3| 66 3 2 ¢ 22 =2
4 91 7

13

9 -2 =3

C. Stella used all the question buckets to paint the answer rainbow.
Colour the question buckets to match the colours of the answer rainbow.
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